= O
N = 0 & Af H ANl A
20011E = 204 LB H sl ~ s s
w02
o2y
D2 SasMa JEXE Al )
] _ _ PIEL=
SA R OO(5]) - NEAY - BAS oy L
A= 3,979,639 3,197,233 782,406
= 130,000
2 621,000
= 7,800
°c 86,620
Al 3,134,219
= e 3,218,563 2,648,383 570,180
= 124,000
2 621,000
= 7,800
c 86,620
Al 2,379,143
2 SASMA J|I=XE ALY 727,923 671,714 56,209
= 107,500
= 1,800
°c 71,620
Al 547,003
SHEX ANSUE SAANY 11,000 11,000 0
206 M 24| 11,000 11,000 0
01 MZ=dl 11,000 11,000 0
OSTEN HEDE SA I
1,100,000 *10ha 11,000
H 22 2272 A& 22,400 21,250 1,150
°c 6,720
Al 15,680
402 CIZ2tXHE0| M 22,400 21,250 1,150
c 6,720
Al 15,680
02 CI2FCHEE A Y] 22,400 21,250 1,150
OHESS AU R (SSRGS D)
22,400,000 x 14! 22,400
= 6,720
Al 15,680
M= A2 A HE AlY 4,500 3,800 700
206 X = H| 4,500 3,800 700
01 MZ=H| 4,500 3,800 700
GRE RO H ASAY
4 500,000& =10 2~ 4,500
HN=EBSAIY =& E gl & s=A0ILF &A 5,000 5,000 0
201 Bt A | 1,000 1,000 0
01 AP 2t2ld] 1,000 1,000 0
O6 &xt& 1,000
bEOIAEIAY SEEIIE HA XS
500, 000& «2CH 1,000
301 LBt A= 4,000 4,000 0




FA szl

B medlENY
B9 DB saSMM IIENE AL (el @ e
_ = HE
SA-ZH - S2A(3AH) - MEAME - HES Ol &F 8 Ol A o8 BlusZ
10 BAIAHIRAS 4,000 4,000 0
OsYIISRIANY SHEIS F4N 342
4 5,000 x2008! 1,000
Osgol stEMOILE 4T ol 24
60,0002 *509! 3,000
SoIAEs 2YTIE 68,047 57,873 10,174
= 1,800
A 66,247
201 Yer2et] 18,887 19,613 AT26
= 1,800
A 7,087
01 A2l 3,600 3,600 0
O1 ger+8H 3,600
R 3,600
OSRIAEASY XIE 1,200,008 374 3,600
= 1,800
A 1,800
2 2z 15,287 6,013 AT26
O1 2322 2 MA 5,700
>sOIMEL W5 23
30,000 * 1074 2+ 128 3,600
>sOINEA ®IIRS 35,0008 5H L4128 2,100
O2 A& 5,737
>s0laE s LYY
9962 =8 Al 25722+ 10CH 5,737
O3 AZEHIR ] 3.850
>sOIAEA ANEFE S
550,000 7 3,850
202 01| 36,960 36,960 0
01 24018 36,960 36,960 0
Osolags #ZES oY
280,002 *1191» 12 36,960
405 XotF S| 12,200 1,300 10,900
01 MR SEHSH] 12,200 1,300 10,900
OPC 1,400, 000! =4CH 5,600
OZ2lEd| 70,0002 +8LH 5,600
ONEA ASII(DIMSHIATE)
50,000 204 * 1074 1,000
AIIEE SN (SLIED) 205,000 320,000 A 115,000
2 102,500
A 102,500
401 Al&HIZ 2 OHH] 20,000 5,000 15,000
2 10,000
A 10,000




FA szl
M sYII=He

SRl DEBE SHSMM JSNE AY (e @e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 Al&| 20,000 5,000 15,000
OseBNLIIE(JIS2US S S04
=ERENEY 20,000, 000! *14} 20,000
= 10,000
Al 10,000
402 212FXHEOIF 185,000 120,000 65,000
=2 92,500
Al 92,500
NIEEIEEES 185,000 120,000 65,000
O= 20l LK 212 Al (Al &2 0] 24 2 5H0f]
A=) 50,000, 00024 +1H 2 50,000
= 25,000
Al 25,000
ORI XS4 A B2 & (U-ITOIS RS0
BAAEIIEEE) 40,000,000 *14! 40,000
2 20,000
Al 20,000
ORI SMAHIBLII S (B LMATFAIY)
20,000,000 %14} 20,000
= 10,000
Al 10,000
ORURSMAYRLI | E(SSRATSHHY
ABSAE) 25,000,000 *14} 25,000
= 12,500
Al 12,500
O SMAHRLI S (DB HA ML
ANED 50,000, 0008 * 14} 50,000
=2 25,000
Al 25,000
SUNEOINYN (ST SD) 10,000 10,000 0
= 5,000
Al 5,000
101 Q124 10,000 10,000 0
= 5,000
Al 5,000
04 JARZEISES 10,000 10,000 0
OSZXSALLASHERINSNCLENS)
10,000,0002! %144 10,000
= 5,000
Al 5,000
FE4as WELX &1 29 140,735 146,480 A5,745
101 @124t 2,185 2,130 55
04 JAR2EXS S 2,185 2,130 55
F24s WSEF el L SHA0 ARY
43,7002 %191 +502 2,185
201 Yereg| 600 2,000 A1,400
01 AtR22lt] 600 2,000 A1,400




o=
= =D

9 DED saSMN IISNE ALY (ctel@a
I:I}\_I X ZH C|—O|(§I j;”) }\-“ }\I.O-I /\—|E AFOH I|_‘|LI;=|_|‘:_ HleDF
. o= T - = S /= (L] 0:”{:'_% Lsa
06 dxt=z 600
DE=2s S0 2EHEH X2
600, 0002 *1CH 600
206 M=l 109, 150 106,350 2,800
01 M=H| 109, 150 106,350 2,800
OFE=2+ X =0 13,000& *7,300kg 94,900
o=+ A ZEX HE 150& +7,0000H 1,050
OS5 SAAML AL K&
3,300, 000& *4ha 13,200
301 YptEaazg 28,800 36,000 AT7,200
12 JIEtE2 4= 28,800 36,000 AT,200
OF==+ MWEsI 2ASE2H &
18,000,000 *4ha*40/100 28,800
Sll=3 d=s4E 26,541 27,111 AB570
201 LetIH| 9,381 9,501 A 120
01 AFR 22l 480 600 A 120
O1 git=Z | 480
PNtz Sd8E 40,0003 *3CH 4= | 480
02 2224l 8,901 8,901 0
o1 3322 %2 HA 2,130
>ASA BE2 (30H) 600, 0003 »3CH 1,800
DetZoed 232 (3U) 80,000 +3CH 240
>RSI BA=22 (30H) 30,000 +3CH 90
O4 xtgteetd] 6,771
>AgStE 20 3,416,000 x2CH+70/100 4,783
>AEsE 10 2,839,000 1CH+70/100 1,988
202 O4dl 17,160 17,160 0
01 =LA b 17,160 17,160 0
OJl=gs =& ol 110,000& #1321 %123 17,160
S22 A HIJLE SIS A THEHAIE 4,200 4,200 0
402 It X =01H 4,200 4,200 0
01 QA XGEEX 4,200 4,200 0
OJt=Z Xt HIJtEot A THHHAIE
3,500,000 *2JK 2~ %60/ 100 4,200
Zé Y 29 12,500 0 12,500
101 14| 12,500 0 12,500
04 JIZtHIZ2E2HEE > 12,500 0 12,500
wsdzeld 249 12,500
>olEg=s 43,700 x 121176 7,692
DI 43,7003 12136 1,574




PN sEll=1
N =)=

el IJ_E’“ SASHA JI=X3 ALY CEEREED
_ _ - HEc
2N -3 - c2(3H) - NEME - HES Ol &F2H loﬂ/l\_Fo” Hns
> AX=E 43,7003 x101%8 350
>AHZ 43,700 101222 %25 1,023
>DEES 960,200& * 19! 961
FNZ2AE2 SIHEED MASX ZAHAIY 36,000 0 36,000
402 2I2FXHE0IA 36,000 0 36,000
01 QIAXEEX 36,000 0 36,000
Ostnaag 2HEED 2&td MMHHIIEA
[ (1K) 36,000,000 14 36,000
AGHIE2ADs ZJI&AH(ZH]) 23,000 0 23,000
= 6,900
Al 16,100
402 SI2tX =0l H 23,000 0 23,000
= 6,900
Al 16,100
01 2IAXEEX 23,000 0 23,000
OxXelgle HIDIsXI&AY
23,000, 000& *1JH 2 23,000
= 6,900
Al 16,100
KHESIAIHE S5 (=) 139,000 0 139,000
< 52,000
Al 87,000
402 QI2tXI20lH 139,000 0 139,000
= 52,000
Al 87,000
01 I2tX2EX 139,000 0 139,000
OBlack Food MAIZZ M E AL
139,000, 000& * 171 & 139,000
< 52,000
Al 87,000
Ass&zZIN=X& 20,000 0 20,000
= 6,000
Al 14,000
402 2I2FXHE0IH 20,000 0 20,000
= 6,000
Al 14,000
01 IAXEEX 20,000 0 20,000
O=HUMESHELES 20,000, 000& *1IH 2~ 20,000
< 6,000
Al 14,000
MAHIEZ Y OHMSMSMM J=E3 117,011 102,765 14,246
> 22" 29 3,811 5,065 A1,254
101 Q1A H| 1,311 1,065 246
04 JI2ZtNZ2E2XSE 1,311 1,065 246




SN
X{ ZH -
S Tt

ce:

sJl=0
sZl=he

MAHIEZY U oHES

= ¢

0z

H

& JlzES

SNBSS - MEAY - BES

[
2

20
B
2

Ot stzes 2% vy
43,7002 %121%302 1,311
206 2| 2,500 2,000 500
01 Ml 2,500 2,000 500
OBIIZMA A2 U KR (OLHIE2I3E)
2,500,0002 14! 2,500
HA S2eA gX2e 8,200 7,700 500
201 ety 1,200 700 500
01 At22lH| 500 0 500
O1 Yerag| 500
DHASTHSA 2ZEIL 50,0008 104 4 500
02 ZBZ=H| 700 700 0
O1 222 2 HA 700
PHAZSZHAA AIRE 2RI
7,000,00024%10/100 700
401 Al&HI L2 0] 7,000 7,000 0
01 Al&H 7,000 7,000 0
OHAZZHSA RX22l  7,000,0002*14] 7,000
33 F M D A 18,000 6,000 12,000
402 QIR0 H 18,000 6,000 12,000
01 QIIR=EE 18,000 6,000 12,000
Ostsl 2™ NE
10,000, 0002 *37H 2 *60/ 100 18,000
SEBAMNESUAT LSS 12,000 24,000 A 12,000
402 QI2HXH=0|F 12,000 24,000 A12,000
01 UAREEE 12,000 24,000 ~12,000
OBEDRMAEEYATLAY
10,000, 0002 *27H 2 *60/ 100 12,000
ZOHAZE0L PBRD MAISESAY 9,000 0 9,000
402 DI2HXH=0|H 9,000 0 9,000
01 UAREEE 9,000 0 9,000
OXICtA =20t SHIME LI SAI
15,000, 000! * 1JH 4 *60/100 9,000
TISHAPARDE QFEMAL | E B2 Al 24,000 0 24,000
402 2I24TH=0|H 24,000 0 24,000
01 QAREEE 24,000 0 24,000
OXIAAND QYA D=2 3 AlY
40,000,000 * 1JH 4 +60/100 24,000
SUDMT I AlY 18,000 0 18,000
402 DI RHE=0|H 18,000 0 18,000




FA szl

M sYII=He

Ol MAHIRZ U OIESASMA IR (B9 &2
_ o rSIELS =
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
01 pIAR=EE 18,000 0 18,000
028 QAT X4 AY
30,000,000 *17H 4 *60/100 18,000
JIsSH AASEHS S2Hel ASAY 24,000 0 24,000
402 Q12X 0IF 24,000 0 24,000
01 PIAR=EE 24,000 0 24,000
OJISH MASES 222 ASAY
40,000,0002 *17H 2 *60/100 24,000
TEsE MYsY JlE23 641,462 532,975 108,487
=2 16,500
= 15,000
Al 609,962
EYBBAY HY L ¥EH2 = 44,331 38,253 6,078
101 o121l 16,131 11,853 4,278
04 JAM2RIISES 16,131 11,853 4,278
OEYZEATA 29 16,131
>I123 43,7002 %101 %220 9,614
>ERLY 43,7002 %101 %402 1,748
> Of R g 43,7002 101510 437
> A0S 43,7002 %101 %222 x33| 2,885
T 14,6302 121 %102 1,447
201 Ygreg| 8,200 6,400 1,800
01 AL 22l 3,700 3,400 300
O1 Yur+gY| 3,100
PEAAFE ARSS HME 4002 +3,0000H 1,200
DEUATE AHIHSN ME
3002 +3,000% 900
PEY L ASH 24 HAY ASHel 4
2 8002 *1,250 £ 1,000
04 T=Y| 600
DEYAT ME U AR NS
100, 00024 %301 x23| 600
02 222 4,500 3,000 1,500
O3 N&ZHISX 4,500
PESESAIA ALZHISAY
150,0002 x30% 4,500
207 ALl 20,000 20,000 0
INEEET 20,000 20,000 0
OEYAFA ABA (1005)
5,000,00021 *14! 5,000
OEUATA MEHET (80F)
3,000,00021 *14! 3,000




FA szl
M sYII=He

Cel: XEstE MYsY JIsEs (etel: =3
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
OELZETA Mg A (022, EA)
1,000,000& 123 12,000
NEGI2A EATEINY ASAY 3,200 3,200 0
402 RIZEXH20I A 3,200 3,200 0
01 QI EEx 3,200 3,200 0
OANHESISA EXSEME MY
4,000,0002 *1JH 2«80/ 100 3,200
HANSE 0| FSHSY AlY 340,000 340,000 0
402 QIZEXHE0IA 340,000 340,000 0
01 SIZHGEEX 340,000 340,000 0
OFHUNERE 0|2 2B AY
850, 0008 *500ha*80/ 100 340,000
HEd H MMih=sE dois ¥ =LA AY 4,800 4,800 0
206 | 4,800 4,800 0
01 M2l 4,800 4,800 0
OZ&td H MMHlsY dois & Z=2H AlY
00,0002 «8ha 4,800
ZBABOEE HEX NBNE S4 AY 2,000 2,000 0
206 M= 4l 2,000 2,000 0
01 M2 2,000 2,000 0
Ofed 58 HEXNL NSnE SAAEY
2,000,000 * 17§ £ 2,000
nEds &)= N (sI=1) 33,000 35,569 A2,569
= 16,500
Al 16,500
101 @124t 3,059 25,125 ~22,066
2 1,530
Al 1,529
04 JIZHMZ2USEE S 3,059 2,556 503
OHSHHARIUAMAIG 2 (NE L =F
Heg) 3,059, 000& 14 3,059
= 1,530
Al 1,529
201 Yer2g| 3,000 3,000 0
2 1,500
Al 1,500
01 AtS 22l 3,000 3,000 0
OgilsZMAeSLI =S ESME (NS EsE
H29) 3,000,00024 14! 3,000
2 1,500
Al 1,500
206 M2l 2,941 2,444 497
2 1,470




SN
X XH .
S Tt

ok

sJl=0
sZl=he
AEote Y=Y

l=Es

SN -3H - S2A(2AH) - NRAY - BE= Off & 2K %Eﬁiﬁ HusZ
Al 1,471
01 M2l 2,941 2,444 497
OYHESYMLNSS SR (DS S SHHIX L)
(941,000 *14! 2,941
=2 1,470
Al 1,471
402 QI XHEO0IH 20,000 0 20,000
=2 10,000
Al 10,000
01 BIRAREBE 20,000 0 20,000
OHHESHLI SN (SLLHSLRAIY)
10,000,000 <20H £ 20,000
=2 10,000
Al 10,000
405 Xkors S| 4,000 5,000 ~1,000
2 2,000
Al 2,000
01 XarUSE3 S| 4,000 5,000 A1,000
OgHENASERY 4,000,000%! *14! 4,000
=2 2,000
Al 2,000
SBOIMS LW MAAL &X 75,931 29,153 46,778
101 Q12| 16,131 11,853 4,278
04 JIARZERSES 16, 131 11,853 4,278
ORSOIME HHAAMMAIL 2 16,131
>o123 43,7002 %101 2202 9,614
>EESE 43,7009 1015402 1,748
> o Rt G 43,7002 1015102 437
> A0S 43,7008 »191 %222 533 2,885
>REE 144,630 %101 102 1,447
201 Y2 ] 41,300 11,400 29,900
01 AtR22lt| 2,420 0 2,420
O1 YeragH| 2,000
>PREBOMES 88 AYE g2
4,0002! *5005 2,000
O4 Tl=| 420
PRSOIMSHIA U HHLME I=h)
70,0008+ 191 %34 4 %23 420
02 BT 38,880 11,400 27,480
O1 2222 % MAl 23,880
P REOMES Y HIIQS(MEH, 29,2
%) 600, 0002 «30 2% 1204 2 21,600
> RSOIMES oA MIIEEZ O +4
2 90,0008 » 122 1,080




FA szl
M sYII=He

el XtEstE MA=sY JlsEs (ctel: &
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
DREMNMBHAA =23 (2, 4x)
50,0003 x2I1 A +12& 1,200
O3 A& ZHIs At 15,000
DRE0IM=S Hea AlZEHl =Xl
500, 000& *30H 2105 15,000
207 AN 6,500 5,900 600
01 H2E 9] 1,500 900 600
OEXZAZH S8 RE0IME =4 (28)
1,500, 0003 =14 1,500
03 A& HI 5,000 5,000 0
OREIMES A24 29 A2t 7Y
5,000, 000& 14 5,000
405 AHoHESHI 12,000 0 12,000
01 ML ESHSHI 12,000 0 12,000
ORS0IMIBULHEH WSE HA(208)
200, 0003 *15J0 *2H 2 6,000
OFE0YSHHAME wsH Xt
100, 000& *309H *2JH 2 6,000
SHENEE 88 08 =428 M 16,000 0 16,000
402 It X201 16,000 0 16,000
01 BIZFGEEXR 16,000 0 16,000
OSZMHH2E(+TL)EE NESHE MAX
& 2,000, 000& *10ha*80/100 16,000
RE0ME YSEH 225 ASAEY 3,000 0 3,000
206 M=l 3,000 0 3,000
01 M=H| 3,000 0 3,000
FE0YSLSEH 2258 4SAEY
3,000, 000& =14 3,000
HHAT EZX 2 ALY 79,200 0 79,200
402 SI2t X201 79,200 0 79,200
01 22 G2E X 79,200 0 79,200
OFHTUM Bx 99,000,000 *80/100 79,200
HPWLAD|sXRI| A ESAIS (ZHI) 40,000 0 40,000
= 15,000
Al 25,000
402 LIt XHE01H 40,000 0 40,000
L= 15,000
Al 25,000
01 B2 EX 40,000 0 40,000
OB X SII=BESTOISAIE S S
50,000, 000:& *80/100 40,000
= 15,000
Al 25,000




FA szl
M sYII=He

Ol NASHS L DSYE AZAE A7 (oA
. . - Hag —
A -3 -H2A(SH) - HEAMY - BES O AF K @E% Hlws2
NASHS L DetYs ASAE A7 490,167 1,113,439 623,272
= 6,000
Al 484,167
Ystgs AZSAE ARI|s B 235,685 923,997 688,312
101 QI2AH| 34,485 34,497 A2
04 JIAH22XEES 34,485 34,497 NV
Ot s AZANET 2 16, 131
>ol=3 43,7002 %101 %220 9,614
>ESaY 43,7002 101 %402 1,748
> 01 f 2t 43,70021+101%102 437
> a0l 2 43,7002 101 %2221 35| 2,885
> e 14,6302 121+ 104 & 1,447
ODSASAZAEE2Y YAAQIZL
43,7002 %301 %140 18,354
201 Yere | 13,300 9,500 3,800
01 At 2telt| 2,300 1,200 1,100
O4 T=H| 300
> oStYEs AZeIT AT b=
10,0002 *3¢! 300
06 2R2 2,000
DS HSAZTADAGET B AXE
500,000 *4CH 2,000
02 ZZ2YHl 11,000 8,300 2,700
O1 2222 < XA 4,800
> DStYEs AZeT AEE FHIIRS
400,0002! * 122 4,800
02 ez 2,000
DISEE AZR AEEE A= (S
) 500, 0002 *4CH 2,000
O3 AIEEEIS X 4,200
DISEE AZ AEE AL EH S
600,0002! +75 4,200
206 2| 10,000 7,000 3,000
NER] 10,000 7,000 3,000
OCIPAIEE 2% XHI 200,000 *50% 10,000
207 1P| 25,000 21,000 4,000
03 Al el 25,000 21,000 4,000
OE=2g ASASAD(SERE 9)
100, 000! *25Z*103] 25,000
401 Al&ZH 220 151,000 848,000 697,000
01 Al&H 151,000 848,000 697,000
OBSSSASAEE ARV X4
10,0002 *5,000 50,000




SN
X XH .
S Tt

ok

==plE!
SI=PIEDI L
NeSss Y Bstds 4SAE o7

-

=

_ _ pSNE e
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘; HusZ
ONSLSASASEE 52 ZHZA
180, 000! *300m 54,000
ONSIYSASAEE ©42 =M SA
350, 0002 *60m 21,000
ONSIYSASAEE SE2 SXBAF
100, 000 *60m 6,000
OBSYSASASEE BHAE ZA
20,000,000 17§ £ 20,000
405 THaHzE S| 1,900 3,000 A 1,100
01 HAYLSEHSH| 1,900 3,000 A 1,100
ONSYSASE 24 B440)|
300, 0008 *4CH 1,200
ONSYSASABE S0 =D
300, 0008 *1CH 300
ONSLSASAIBE ANE  400,0008 *10H 400
Noisel S#ZNEIIE N 26,043 25,608 435
= 6,000
Al 20,043
101 ©1>2AH| 19,043 18,608 435
£ 3,500
Al 15,543
04 JIZH2ERSES 19,043 18,608 435
Ot sII &Y A2~ 19,043
>I123 43,7009 %101 x212 %128 11,013
= 3,500
Al 7,513
>FEES 43,7002 %101 x48 2,098
> O X4 & 43,7002 %101 12 525
> &0 2 43,7002 %101 x21 2 %43 3,671
>REE 14,6302 101 x128 1,736
207 1N 7,000 7,000 0
s 2,500
Al 4,500
03 AlE 3| 7,000 7,000 0
Onstds Dz 8 AHl2 7,000
DESHEIIEH WP
7.000,0008! * 14! 7,000
= 2,500
Al 4,500
Betds HRAE 2Y 91,539 65,834 25,705
101 ©12AH| 16,131 0 16,131
04 JIZH2ZRSES 16,131 0 16,131
Onstgs ARAE 29 16,131
>Il2E 43,7002 %101%2202 9,614




FA szl
M sYII=He

Sl TASHS U DsYs ASAE 7 (el &2
_ _ _ N E
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 Gl o bRz
>EESY 43,7002+ 121402 1,748
> ARt g 43,7002 121102 437
> &01 2 43,7002 101 %2221 435 2,885
>EER 14,6302 %1901%10% 1,447
201 LBty 50,058 42,384 7,674
01 ALR eIt 5,920 3,300 2,620
O1 Yer+gt| 1,000
boeled AiNeEe 292 M
5002 2, 00004 1,000
03 2g4y 4,500
bReled AHNRTR Y 28 AR
50,0002 ¥2A| 2H+453] 4,500
04 T=Y| 420
DS SAL AEE Y Heis 1Y
70,0002 %621 %13] 420
2 222l 44,138 39,084 5,054
01 2323 ¥ HAl 23,040
e NI Pl =1
250,0002 *47H 4 122 12,000
bgeled AHKBEY Mo
450,000 % 10 4 128 5,400
PHMED L eeIdiBa &)e3
450,000 * 10 4« 128 5,400
PRAFEFI LI ABR3
10,0002 x2CH « 122 240
02 2| 13,008
DA T A Lol 2 Y|
99621 *15A1 2H+ 1502 2,241
>Relea HUXDH LYo REI (A
~) 99621 +20 Al 2H+ 16021 #2CH 6,375
>RSEESA HLARY]
9962 * 15A] 2+ 15022 #2CH 4,482
O3 A&ZHIRN 8,000
>BE Y SAlE R
1,000, 00021 *47H 2 4,000
>Relea AU X2
2,000,0002! #1742 2,000
PHEMID 2 9HeItBa Rl
2,000,0002! #1704 2 2,000
206 2| 8,750 6,750 2,000
01 HEH| 8,750 6,750 2,000
Seled AU EA HE Wa
5,0002! %3091 #453| 6,750
OALY HUX2HR AHE 7
20,0002 ¥50% +23] 2,000




FA szl
M sYII=He

Sl TASHS U DsYs ASAE 7 (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
207 1ot 14,000 14,000 0
03 AlE 27| 14,000 14,000 0
OZH YA =354 AHADRTY
50,0002 %805 4,000
OSBHAS AMEAT X 10,0008 =405 4,000
ORe24 ABIIENY 100,000 %205 2,000
OXS3Hot2A MiKJIE R 100,000 <405 4,000
301 LBAI 1,000 0 1,000
10 BAAHIE A3 1,000 0 1,000
ORUXZDS HAK 24  5,0002+2002 1,000
405 THAHE S 1,600 2,700 A1,100
01 RMUSEH S| 1,600 2,700 A1,100
OBSISAES AT 50,0002 *2CH 300
OS24 IHHE +4= 500, 0002 x25 1,000
ORKDFA SH0IE BE 300,0002 *15 300
DAEEGY AGHT 17,000 10,000 7,000
207 HPIHLEI 6,000 6,000 0
03 AlE Q7| 6,000 6,000 0
ODSBHEA AIGAT 100,000 %65 +103] 6,000
405 THAHF S 11,000 4,000 7,000
01 RAUSEH S| 11,000 4,000 7,000
OFHE CINE Mz 11,000,000% * 14 11,000
SENY SseT 0,000 12,500 A2,500
201 Yer2 gyl 5,000 2,500 2,500
01 AR eIt 5,000 2,500 2,500
O1 Yer+gt| 5,000
POl ¥ R 24 442
50,0002 x20Z *53] 5,000
207 HPIHL Y 5,000 5,000 0
03 Al eyl 5,000 5,000 0
SEXE KoiSE PN
10,0002 %105 *53] 5,000
EZQAS ASEH o7 5,000 5,000 0
207 o1t 5,000 5,000 0
03 AlE | 5,000 5,000 0
OEZRAL LSS ASAE
50,0002 ¥25 % *43] 5,000
DIMDEER Ny o 2orssy 45x7 7,000 8,500 A1,500
207 1Tt 7,000 7,000 0




FA szl
M sYII=He

Sl TASHS U DsYs ASAE 7 (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 il b o B2
03 AlE 27| 7,000 7,000 0
OOMDIE SR Her 10,0008 *7Z5+103] 7,000
FoNE BRHY U JlsHNT 5,000 3,000 2,000
207 HPIHLEI 5,000 3,000 2,000
03 Al eyl 5,000 3,000 2,000
ORYA2E BHSY L ISy o7
100,000 %105 *53] 5,000
NEEE Jl223 13,900 40,000 £26,100
201 YEr2 Yyl 2,300 4,018 A1,718
01 AR 2IYl 2,300 4,018 A1,718
O1 Yer+gt| 300
DRRES JlE BAHIE 300,000 1A 300
03 2g4Y 2,000
DOIBIISEZES DS BAEY
00,0004 %103 2,000
202 04t 600 1,000 A400
01 =2Uloibl 600 1,000 £400
OIFBIIEH R0+ 10,0002 301 %23 600
206 T2 8,000 8,000 0
01 el 8,000 8,000 0
OJBII& EF3 A TR
200,000 *20% *23] 8,000
405 XHAHE SHI 3,000 0 3,000
01 RMUSEH S| 3,000 0 3,000
OYsx Y2=T =HI| 3,000,002 *10H 3,000
ESTA 4B 67 10,000 0 10,000
206 T2 5,000 0 5,000
01 HEH| 5,000 0 5,000
OEZIAS 01838 4B W2
10,0002 #5004 5,000
207 o1 ofett 5,000 0 5,000
03 AlE 2 7| 5,000 0 5,000
OESNAES 0188 4B (CHY 55S)
50,0002 x20Z 53] 5,000
BB NHNS ASAY 35,000 0 35,000
402 RIAX 20| 35,000 0 35,000
01 pIAX=EE 35,000 0 35,000
OJ}ZEDA OLZLIOHE NHHS ASAE
25,000, 0002 ¥27H A %70/ 100 35,000
DERYEE |4 o7 34,000 0 34,000




FA szl
M sYII=He

el NESH8s & Bstds 2dSA8 g2+ (el =3
_ _ _ N E
SNBSS - MBAY - BES 01l &4 24 G {imE=Eh
207 A 1OH | 10,000 0 10,000
03 A&l 1H] 10,000 0 10,000
ECANSEASE H2AE
100,000& *10&x102] 10,000
402 2IbHE01M 24,000 0 24,000
01 BIHGE2EL 24,000 0 24,000
OB AEFS st &SHHIAIE
40,000,000 * 191 2~*60/100 24,000
NEsEXTAMY 843 (s201=1) 1,242,000 227,490 1,014,510
= 621,000
Al 621,000
NEsEXNTMY S483H(sHII=1) 440,000 30,000 410,000
= 220,000
Al 220,000
405 AHoHESHI 440,000 0 440,000
= 220,000
Al 220,000
01 HARESF=H 440,000 0 440,000
SENDIISHEH(RHSESLEY)
440,000,000& 14! 440,000
= 220,000
Al 220,000
NEsHELsI)I=XE 802,000 197,490 604,510
& 401,000
Al 401,000
101 1A 4] 26,618 4,260 22,358
= 13,309
Al 13,309
04 JIZHMIZ2XNSE = 26,618 4,260 22,358
O ANsgo =g 16,130,000& 1¢! 16,130
= 8,065
Al 8,065
OZANSSAESSLAMNG ALY
43,7008 221 %120 10,488
= 5,244
Al 5,244
201 LEH2HH| 10,500 12,700 22,200
= 5,250
Al 5,250
01 AtS2t2itl 5,000 6,200 A 1,200
O1 Ler=EH] 2,000
DEASTALE2S L Et=2H|
500,000& 45 2,000
= 1,000
Al 1,000
O3 2&=+E 3,000




SN
X XH .
S Tt

ok

sJl=0
sZl=he

NHSEX A

1%

jo
0x
ol
O
1%
S
e
[

. _ o FSJE =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
> & Al 21 DHOI S 8 28 9l 2§ 2 AtH
10,0002 #3038l 3,000
= 1,500
Al 1,500
02 Tzl 4,900 2,000 2,900
O1 2223 % MAl 2,400
> EASHALTEIIRS 200,000 *122 2,400
3 1,200
Al 1,200
O3 AIZ=H X 2,500
> EASAAIE ALRHIR
500, 00024 *55 2,500
3 1,250
Al 1,250
03 A2 600 4,500 £3,900
OANHL2Z DS 200,000 *33] 600
= 300
Al 300
202 OfH 2,000 3,000 A1,000
3 1,000
Al 1,000
01 2UHotHl 2,000 3,000 ~1,000
OZASYEE o H24E 0|
200,0002 x291 +53] 2,000
3 1,000
Al 1,000
206 T2l 25,000 10,000 15,000
= 12,500
Al 12,500
01 M| 25,000 10,000 15,000
OZASY0CEY TASERA HEH
100,000 %505 5,000
3 2,500
Al 2,500
OZA S0 S B -C Al S S AL S SR
200,0002 *100% 20,000
= 10,000
Al 10,000
301 YAz 1,000 900 100
3 500
Al 500
10 BAHAHI2A2 1,000 900 100
OZAlsHOIIE S TAISME K24
5,0002 +2009! 1,000
= 500
Al 500
401 AlAHIL 2T 458,882 151,630 307,252




FA szl
M sYII=He

Sl MASENTAY BHEH(SYIISD) (25l &2
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K ‘Oﬁ,‘\jg‘; Hws2
= 229, 441
Al 229,441
01 Al&H] 455,882 150,630 305,252
OSUMEISSH S22 U WAFY)
100, 0002 %300 30,000
= 15,000
Al 15,000
OZANSYEEHRA THBA
425,882,000 14! 425,882
=l 212,941
Al 212,941
03 Al&=CH| 3,000 1,000 2,000
OFZA & AZX WA 3,000,000 14 3,000
= 1,500
Al 1,500
402 QIR 201 258,000 0 258,000
=l 129,000
Al 129,000
01 PIAX=EE 258,000 0 258,000
Ol D2 E 22324 M D (b K th = L 8H & 2 Tt
THEH Al 200,000, 00021 * 14! 200,000
=l 100,000
Al 100,000
OOIE MRS 2SN
250, 0002 *2005 *80/ 100 40,000
=l 20,000
Al 20,000
OZASETZE S8Y =4
30,000, 00021 %60/ 100 18,000
= 9,000
Al 9,000
405 THAHE S 20,000 0 20,000
=l 10,000
Al 10,000
01 RAUSEH S| 20,000 0 20,000
Osg 2 a7 S 20,000, 00021 * 141 20,000
=l 0,000
Al 10,000
WPES (58I 650,000 466,000 184,000
TESE D 650,000 466,000 184,000
IEEIHEED(SS0IMSHSHME 212) 650,000 0 650,000
701 JIEBINEES 650,000 0 650,000
01 JIEtEIHEES 650,000 0 650,000
QEOIME I MAAIL AP
650,000, 0002 14! 650,000

HY2LZHI(sLII=H) 111,076 82,850 28,226




SA: sHIED
MM HHSAAY (SIIED)
ool ol e gyl (Etel: &8
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K 'Oﬁ,‘\ja‘g Hlw &2
= 6,000
Al 105,076
ol 2oty 74,880 55,654 19,226
= 6,000
Al 68,880
oz 2oyl 51,454 55,654 14,200
101 2124t 51,454 51,454 0
01 B4 51,454 51,454 0
OAlZtel 28 49 7, 45721 %2391%300Al 2+ 51,454
VS SHII XA (SYIIED]) 23,426 0 23,426
= 6,000
Al 17,426
101 Q14| 23,426 0 23,426
= 6,000
Al 17,426
03 RIIAHA2ERE S 23,426 0 23,426
OEYZFASYLIHAZE XL Y (W5 Y
=SXHI2Y) 23,426
>I123 43,7009 %101 2532 11,057
= 6,000
Al 5,057
>EESY 43,7002 %101 x50 2,185
>oIR A g 43,7002 %101 17 743
> A0 43,7002 %101 x21 U %43] 3,671
PERREEEE 2,650,000 %101 %14] 2,650
>AZE2RLY 160,0002 121 %128 1,920
> 04 10,0008 %121 %128 1,200
pIEE-L] 36,196 27,196 9,000
pEE-L] 36,196 27,196 9,000
201 ety 14,796 14,796 0
01 At el 14,196 14,196 0
O1 gptag| 8,400
PENSY S| 700,000 * 122 8,400
05 Sl 5,796
DORIELIR S|
7,00021 2301 35| * 12 5,796
02 BB 600 600 0
O1 2222 ¢ MAl 600
LB YEHS 50,0002 122 600
202 01t 7,800 7,800 0
01 2UfoiH| 7,800 7,800 0
OJl2g® S0 50,0002 * 1301 %128 7,800




FAH: =e€l=
FH: HHRIAH (s I=0)
el Jl=3 4l (etel: =3
SA-E . S(E) - MEAY - BES 0l & o e SImE=ET
203 ¥R =&l 4,200 0 4,200
04 FEN2SHRFLH 4,200 0 4,200
ORMd2Zd2FRH|(23¢2!) 350,000& «12& 4,200
405 KH&HFESHI 9,400 4,600 4,800
01 TN =SS HSHI 8,400 2,600 5,800
OFFH(ZUH Z&) 1,400,000 »4CH 5,600
OJIEH 3| 600,000 =4 CH 2,400
OFAX 400,0003 = 1CH 400
02 =AY 1,000 2,000 A 1,000

oM7Y 100,000& *10&8 1,000




